














A Textbook of Mathematics for Class VIII 207

Thus, height of the tree is 21 metres.

Alternately, we can write L= 22 5 T Y1
BTN Y X, Y

SO Xy i Xy =V i)y

or 14: x=10:15

Therefore 10xx=15%x14

or x:lS><14:21

10

Example 3: If the weight of 12 sheets of thick paper is 40 grams, how many sheets of the same

paper would weigh 2 %kilograms?

Solution:
Let the number of sheets which weighs 2 %kg be x. We put the above information in the form of

a table as shown below:

Number of sheets 12 X
Weight of sheets (in grams) 40 2500

More the number of sheets, the more would there
weight be. So, the number of sheets and their weights
are directly proportional to each other.

1 kilogram = 1000 grams
2%kilogram = 2500 grams

12 X
So, —=
40 2500
12%2500
or — =X
40
or 750 =x

Thus, the required number of sheets of paper= 750
Alternate method:

Two quantities x and y which vary in direct proportion have the relation x = ky or 2ok
y

Here, i number of sheets _2 B i

- weight of sheets in grams 40 10

Now x is the number of sheets of the paper which weigh 2 %kg {2500 g].

Example 4: A train is moving at a uniform speed of 75 km/hour.
(1) How far will it travel in 20 minutes?
(i1) Find the time required to cover a distance of 250 km.
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